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How does the 5 in the number 2.356 compare to the 5 in the number 4.065?

O The 5in 2.356 has a value that is 35 the value of the 5 in 4.065.

00
O The 5in2.356 has a value that is & the value of the 5 in 4.065.
O The 5in 2.356 has a value that is 10 times the value of the 5 in 4.065.

O The 5in 2.356 has a value that is 100 times the value of the 5 in 4.065.
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Which expression is equal o 4,500?

O 45 x10*
O 45x10°
O 45x10*
O 45x10°
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What number equals 100,000,007

o1

O 10°
0 10°
O 100°
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What s the expanded form of 74.1097

O (Tx10)+ (4x 1)+ (1 x %) + (9% 75

0 (7x10) + (4x1) + (1x %) + (9% hs)
O (7% 10,000) + (4 x 1,000) + (1 x 100) + (9 x 1)

O (7% 10,000) + (4 x 1,000) + (1 x 100) + (9 x 10)
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Which expression is equal to 34,0007

O 34x10
O 34x10°
O 34x10*
O 34x10°
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What is 76.562 rounded to the tenths place?
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Which of these are equivalentto 7 x 1,000 +5 x 10 +6 x 1+3 x 55 +6 x 355 + 1 X 73557

Select the two correct answers.

[ seven thousand fifty-six and three hundredths sixty-one

[ seven thousand five hundred six and three hundred sixty-one

[ seven thousand fifty-six and three hundred sixty-one thousandths
O 7.056.361

O 7.560.361
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Which numbers have a 4 that has a value of g the value of the 4 in 678.0497

Select the two correct answers.

O 112654
O 237.408
0O 241.693
O 508.417
O 636.504.

O 740286
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Which equations are true?

Select the two correct answers.

O 47 x 10* = 470

0 53 x 10* = 530,000
0 62 x 10° = 620,000
O 78 x 10% = 7,800
O 81 x 10° = 810

O 96 x 10* = 9,600
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Choose the sign that makes the statement true.

0.124 [0 1.204

O =<
o>
o-=
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Which statements are true about the number 1,674.671?

Select the two correct answers.

O The value of the 1 in the thousands place is 1,000 times the value of the 1 in the thousandths place.

[ The value of the 1 in the thousands place is 1,000,000 times the value of the 1 in the thousandths place.
[ The value of the 6 in the hundreds place s 100 times the value of the 6 in the tenths place.

[ The value of the 6 in the hundreds place is 10,000 times the value of the & in the tenths place.

[ The value of the 7 in the tens place is 1,000 times the value of the 7 in the hundredths place.

[ The value of the 7 in the tens place is 10 times the value of the 7 in the hundredins place.




